Consolidation work 30 Second Level ***

1.  Add 12.7, 6.03 and 14.9

2.  6.03 x 10

3.  9865/1000

4.  20% of 206

5.  3/6 of £54.68

6.  Write three twelfths as a fraction, decimal and percentage.

7.  7cm = ___ m? 

8.  4 out of 10 members of the kids club are boys. If there are 50 kids in the club, how many are boys and how many are girls?

9.  Simplify 14:42

10.  What is the difference in price between £34.37 and £13.89?

11.  Round 6 734 897 to the nearest thousand. 

12.  It was minus 5 degrees and the temperature increased by 10 degrees. What temperature did it end up at?

13.  2n – 6 = 12

14.  Write the missing angle in this complete turn: 64 degrees, 125 degrees    111 degrees and ?? 

15.  What is the square root of 9?

16.  A swimming pool is 25m long. How many lengths to swim 600m?

17.  96 x 34

18. 6930 divided by 45
19.  4501 – 3997

20.  Draw a 2D shape with 4 lines of symmetry. (Show the lines of symmetry.) 
